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QUESTION 1

Which command do you use to view the current running configuration on a Nexus switch?
A. show startup-config

B. show start-config

C. show running-config

D. show current-config

E. show config

Correct Answer: C

QUESTION 2

Which action will cause a currently in-sync SnapMirror relationship to fall out of sync?

A. Running snapmirror update on the source storage system

B. Running snapmirror release on the source storage system

C. Modifying the /etc/snapmirror.conf file for the relationship on the source storage system

D. Modifying the /etc/snapmirror.conf file for the relationship on the destination storage system

Correct Answer: D

QUESTION 3

Which statement is true about a SnapMirror destination Vserver?

A. It must have a read-only Vserver root volume.

B. It must be in the same cluster as the source Vserver.

C. It must be created with the same language type as the source Vserver.
D. It must have a different storage efficiency policy than the source Vserver.

Correct Answer: C

QUESTION 4

A company has an assortment of operating systems in their environment. Which operating system is NOT currently
supported by NetApp for their FC solutions?
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A. Windows 2008 Server
B. Solaris 10

C. Windows NT

D. IBM AIX

Correct Answer: C

QUESTION 5

Which statement is true about a Data Protection (DP)-type SnapMirror destination volume?
A. It can be in a Data ONTAP GX cluster.

B. It must be on the same disk type as the source volume.

C. It can be smaller than the source volume.

D. It can be on a different disk type than the source volume.

Correct Answer: D

QUESTION 6

Which utility on Linux can be used to collect information about firmware and driver versions for a Qlogic
QLAXxx/QLExxxx HBA?

A. SANutil

B. EMutil

C. cfgadmin
D. SANsurfer
E. hiBAnyware

Correct Answer: D

QUESTION 7
What is NetApp\\'s recommended best practice for zone configuration?
A. All zones should contain a single initiator and all the targets that initiator accesses.

B. Individual zones can get too complicated. It is better to simply configure one default zone with all devices contained in
it.

C. All devices from the same vendor should be in one zone.
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D. All zones should contain a single target and all the initiators using that target.

Correct Answer: A

QUESTION 8

When assessing a current storage solution, it is critical to document the current NetApp storage system configuration.
Which factor should NOT be considered when documenting this existing configuration?

A. Data ONTAP version

B. current data layout (RAID groups, aggregates, volumes, etc...)

C. storage system name and IP

D. host power cables and power usage

Correct Answer: D

QUESTION 9

The two copies SyncMirror volume are called , Which are physical copies of the same file system and
consist of one or more RAID groups.

A. Snapshot copies
B. Aggregates

C. Plexes

D. Volumes

Correct Answer: C

QUESTION 10

What are four storage efficiency features Data ONTAP 8.1 Cluster-Mode provides? (Choose four.)
A. compression

B. deduplication

C. FlexClone

D. SnapVault

E. thin provisioning

F. transparent files
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Correct Answer: ABCE

QUESTION 11

Which four steps must an administrator take before establishing a CIFS share? (Choose four.)
A. create a volume

B. configure a share policy with the desired values

C. configure an export policy

D. configure name mapping

E. enable Active Directory routing

F. mount a volume within the Vserver namespace

G. set a default share policy

Correct Answer. ACDF

QUESTION 12

What must you specify when you create a Vserver for block protocols?
A. the Vserver\\'s Fibre Channel target WWPN or iSCSI target name
B. the Vserver administrator\\'s login and password

C. the Vserver\\'s home node

D. the Vserver\\'s security style

Correct Answer: A

QUESTION 13

Which utility on Solaris 10 can be used to collect information about firmware and driver versions for an Emulex
LP1xxxx/LPelxxxx HBA?

A. EMutil

B. SANutil

C. hbainfo

D. SANsurfer

E. HBAnywhere
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Correct Answer: E

QUESTION 14

In an active/active configuration in takeover mode, the surviving controller interfaces will reflect the identity of the

A. local interfaces only

B. failed partner interfaces only

C. local and failed partner interfaces

D. interfaces as defined in the /etc/rc file

Correct Answer: D

QUESTION 15

What are two functions of iSCSI access lists? (Choose two.)

A. control the network interfaces on the storage system that an initiator can access
B. define authentication parameters(CHAP)

C. limit the number of network interfaces advertised by the storage system

D. define MPIO behavior

Correct Answer: AC
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